38510000 |Uwupwnhuwl/wpwltipunwluwb/ ApLE hwn 9000 9000 1
30192740 [@nine gnibwdnn A4 Srpdwnh POUL huwuwn 1500 4500 3
30192100 Hhwnhl hwuwnwl roUL hwin 100 500 5
30192750 | bndwuintipbn huwpwdnt rCUL hwin 700 1400 2
30192760 [Uphs unynpwlwl FLULC hwin 150 150 1
30192111 |Fwlwph pwndhy FLUL hwwn 2000 2000 1
30197637|@nine Ywqdh unywnpwaneh PLUC hwin 60 1240 4
30234300 twwnwnl ulwlwn PCUL hwin 170 340 2
30192770] Mywuwh(hl wnihny PLUL huwn 600 600 1
30192114 Frwlwp Yuhph pwndhlh hwd PCUL hwwn 250 500 2
30292510 Pwunb wjwuwnhl PLUL hww 350 700 2
30192700 (S pwubityjwlwihl whunnypltbp PLUL hwn 500 15000 30
30192000 [3pwubljwlwht ujniptn PLUL huwn 500 5000 10
130000
50531120 | Cwlwhpnthwh dwwjnipnil rOUL hwn 120000
79132100 [£| un uwwuwpldwl Jbwp PCUL hwuwn 3000 6000 2
45251170 |Sbuhy uwwu gtin hwdwl PLUL nnwd 60000
66111000 | Pwllwjhl dwnwjnipjniiitip PCUL npw 50000
90920000 | tanwwhqughw PCUL npwd 5000 60000 12
50311120 [£wdwlwpg wwhuw Unpng PLUL nnwd 884000
92420000 |RbEppnwd hwjnwpwpnipjnil PLUL nnwd 5000 50000 10
92410000|Ftpp <<“ppmpjni>> PLUL npwd 10400 20800 2
1250800
39513200 |[@neb wudtnnghy tnltipwn rCUL npud 105 2100 20
39292110| Fnwinwhunwlh dwpnhs FLUL npwd 250 2500 10
39831244 |06wnh nlinbiuwljwu PCUL nnwd 150 1500 10
39831245 06wnh htnniy POUL nnwd 430 2150 5
39812410 |Uwpnnn Yunnpubin PLUL nnwd 1200 4800 4
39831271 |Uwnug uwlhunwnwhhatuhy PCUL nnwi 50 300 6
39812100 [Cwinwyh dwdhy PLUL npwd 1480 7400 o3
39835000 |Fwhtn PLUL npwd 2500 5000 2
33761000 |runnnywlutinh dhwgdw dwutip PLUL nnpwd 2000 6000 3




